
Math 302 Complex Numbers

1. Multiply the numbers 2− i and 3 + 2i.

2. Express 1− i
√
3 in polar form.

3. Express 2e7πi/6 in cartesian form.

4. Prove the exponent law
eiαeiβ = ei(α+β).

Hint : perform the product on the left hand side in cartesian from, and apply sum
identities for sine and cosine to simplify to the right hand side.

5. If z = reiθ, then by successively applying the formula above we get de Moivre’s formula

zn = (reiθ)n = rneinθ.

Use this to compute (1 + i)23.

6. Prove d
dt
[eλt] = λeλt where λ = a+ ib.
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